Name:

Adding Mixed Numbers

with like Denominator, Requires Simplifying

p
o

o/

How much pie did both families eat?

32 32 39 32 32
8 8 / 8 8
1 1 ] | |
+23 @j + 2 @J +%3g +2g
4 4 4 _ 1
8 >g >FTO7
Add the fractions and simplify the answers.
a. 52 b. 41 c. 32 d 32 e. 32
> 7 370 338 35
2 1 3 4 1
+47% +17 +210 +%73 +179
ff o3 1S h. o3 i L . oL
2 12 & 1 10 2 14 6 b2 8
| S 3 2 |
+ 12 +5m 4! 14 +4Z +4§
k 2 I 3 m. 44 n 6 o. 2
2 9 ] 12 6 10 S 14 ] 12
4 3 2 4 4
+3§' +]T§ +2T6 + 14 +7T§
p. Tom'’s family ate 1] % apple pies.
Susie’s family ate 1 g cherry pies.
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ANSWER KEY

( Adding Mixed Numbers )
K with like Denominator, Requires Simplifying j
3 3 3 3
33 N 8 33 3%
)1 L 51 )1 )1
+ 48 8:j 23 +“8 +°3
4 4 4 _1
8 > g -
Add the fractions and simplify the answers.
a. £ 2 b. ¢ 1 c. 2 2 d 22 e. 22
% 7 376 38 3%
2 1 3 4 1
+47% +17 +210 +473 +179
4_o2 2_,1 5 _ol b _93 3_41
=73 77  875=83 g=7s 49 =43
f. »3 3 h. o3 i L . oL
2 12 g 1 10 2 14 6 b2 8
| 5 3 2 ]
+ 12 +5m 4! 14 +4Z +4§
4 _,1 8 _,4 6 _,3 3_41 2 _,1
212=23 $16=%5  314=37 4g=473 b6g=63
k 2 I 3 m. ¢4 n 6 o. 2
2 9 ] 12 6 10 0 14 ! 12
4 3 2 4 4
+33 4] 12 +2m + 14 +7ﬁ
6 _52 6 _ o1 6 _g3 10_:5 6 _gl
59 =53 213=23 810=8% S14=°7 812=83
p. Tom's family ate 1] % apple pies.
4 - 6,3
Susie's family ate 1 5 cherry pies. 2 g = 2 a
How much pie did both families eat? Both families at 2% of pie.
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